

Aliana Events

08/21/2025 12:00 PM | Delivery & Install -Day 1 Drape & Chandelier 08/22/2025 09:00 AM | Install Day 2 -Furniture 08/23/2025 07:00 AM | Event Date - Touch Ups

08/23/2025 08:30 PM | Strike - Cocktails 08/24/2025 07:00 AM | Strike - Tent

P0: Shipping Address: Hummingbird Nest Ranch (2940 Kuehner Dr, Santa Susana, CA 93063) Invoice Date:

Due Date: Upon Receipt

Salesperson: Michelle Fuentes

		Qtty	Price		Total
ocktails					
	Props - Carts - Slatted Wood - Multicolor Painted: Tomorrow's Coral P200-3, Used for Aperol spritz 96" W x 36"L x 90" H - Custom Paint Color and Decal Upon Request	1	\$1,040.00	Т	\$1,040.00
	Garden Dining Chairs - Foldable Metal - Multicolor painted: Ivory Lace, Off White Cushions 16" Diam x 37.5"H - Custom paint upon request	54	\$29.90	T	\$1,614.60
	Garden Bistro & Stand Up Tables - Giardino Delle Rose - Bistro Painted : Ivory Lace 27"Diam x 28"H - Custom Frame Color Upon Request	8	\$179.40	Т	\$1,435.20
	Top Hats - Monaco - White Velvet W/ Silver Trim Cover the silver trim, in white velvet 8' Diam	2	\$767.00	Т	\$1,534.00
			Total Cocktails		\$5,623.80
eception Drap	ping				
eception Drap	Ceiling Drape - Pleated Sage Velvet 17'w x 120'H Pleated 1 1/2	5	\$2,990.00	T	\$14,950.00
eception Drap	Ceiling Drape - Pleated Sage Velvet	5	\$2,990.00 \$1,950.00	T T	\$14,950.00 \$1,950.00
eception Drap	Ceiling Drape - Pleated Sage Velvet 17'w x 120'H Pleated 1 1/2 All Around Valance In Sage Velvet		· 		
eception Drap	Ceiling Drape - Pleated Sage Velvet 17'w x 120'H Pleated 1 1/2 All Around Valance In Sage Velvet 550' x 14"h, Custom Made Swags Sage Velvet to cover Gable end top	1	\$1,950.00	T	\$1,950.00
eception Drap	Ceiling Drape - Pleated Sage Velvet 17'w x 120'H Pleated 1 1/2 All Around Valance In Sage Velvet 550' x 14"h, Custom Made Swags Sage Velvet to cover Gable end top 100 x 29'H, making (2) Center Middle Swags, (2) Center Pleated Sides Flat Printed Fabric - 66'W x 18'H - Client to provide the fabric, Revelry to Print, No Valance, Gable Wall	2	\$1,950.00 \$3,380.00	T	\$1,950.00 \$6,760.00 \$15,600.00
eception Drap	Ceiling Drape - Pleated Sage Velvet 17'w x 120'H Pleated 1 1/2 All Around Valance In Sage Velvet 550' x 14"h, Custom Made Swags Sage Velvet to cover Gable end top 100 x 29'H, making (2) Center Middle Swags, (2) Center Pleated Sides Flat Printed Fabric - 66'W x 18'H - Client to provide the fabric, Revelry to Print, No Valance, Gable Wall Side Fabric Treatment in Sage Velvet	2	\$1,950.00 \$3,380.00 \$7,800.00	T T	\$1,950.00 \$6,760.00

Description		Qtty	Price		Total	
Stage Back Dro	p					
	Chandeliers - York - White Flowers 43"	1	\$1,040.00	T	\$1,040.00	
H. J. P. P. A.	43"W X 44"H - 46LBS - 300 Watts					
	3 Lattice Arches - lattice insert - 8'w x 2'D x 14'H	1	\$13,000.00	Т	\$13,000.00	
	(4) column - 2'w x 2'D x 14'H , 3 ARCHES , (3) 8'W x 2'D x 14'H , (2) Insert 6'w x 10'6"H , (1) Insert 6'w x 12'H. PAINTED : Nile River					
	Pedestals for inside of Lattice Arch to hold Flower Urns PAINTED: Nile River	2	\$0.00	T	\$0.00	
		То	Total Stage Back Drop			
Sconces for St	age Backdrop					
*	Sconces - Lyon - Gold Leaf	4	\$65.00	Т	\$260.00	
36	21"W x 35"H - 50 Watts					
1944	То	tal Sconces	al Sconces for Stage Backdrop			
Lattice Arch - E	ack of Tent					
	Custom Made - Lattice Panel	4	\$3,770.00	Т	\$15,080.00	
	12w x 4" D x 12'H, Flat Insert With Floral Art Work, with backing only on the Circles - Client to provide File to print, See photo - PAINTED: Nile River					
	7	Total Lattice Arch - Back of Tent			\$15,080.00	
Reception Cha	ndeliers					
	Custom Made - IVORY Dup. Round Chandelier 30' Diam	1	\$22,100.00	Т	\$22,100.00	
	TRUSS RING 33' DIAM - 103 LINEAR FT X 4'H \mid 2nd Inner ring - 25' , (78.5 Linear Ft) x 4'H \mid 3rd Inner Ring - 19' (59.69 Linear ft) x 4'H \mid (2) extension pipes					
	Chandeliers - York - White Flowers 61"	2	\$1,430.00	Т	\$2,860.00	
	sage velvet ruching , 61"x61"H - 80LB - 450 Watts					
	Chandeliers - York - White Flowers 43"	8	\$1,040.00	Т	\$8,320.00	
Walter A	sage velvet ruching , 43"W X 44"H - 46LBS - 300 Watts					
		Total Re	Total Reception Chandeliers			
Reception Furn	iture					
	Dj Booths - Customizable Front & Sides	1	\$845.00	Т	\$845.00	
	Lattice Front and Sides , Like stage fronts , Painted in Flagstaff N400-3 6'W x 30"D X 40"H - Can be custom painted and/or decal					
100	Barbacks - Oblong - 8'w - Multicolor	4	\$1,560.00	Т	\$6,240.00	
	with LED in White , Frame Painted : Flagstaff N400-3 , Inside Painted : Nile River S420-3					
	8'W x 24"D x 10'H - Custom Color and Insert Upon Request					

Description		Qtty	Price		Total
	Stage Lattice Bar - 16'W x 30"D x 40"H Bar Frame Painted: N400-3 Flagstaff Green, Lattice Painted: Ivory Lace, with Tree Decal Insert	2	\$2,340.00	T	\$4,680.00
	Bars - Straight Full Bar - Multicolor (4) corners (2) extension - 32" (6) 8'bars - (1) Has a door , Curved Molding and TREE Decal insert - PAINTED : Flagstaff N400-3 , Top painted Nile River S429-3 16' x 32' x 40"H	1	\$5,850.00	T	\$5,850.00
	Stage Front - Lattice Front 8'w x 18"H - Painted Nile River - S420-3	4	\$325.00	Т	\$1,300.00
	Top Hats - Monaco - Ivory Velvet 8' Diam	2	\$780.00	T	\$1,560.00
	Dining Table - Moscow - Round Gold Base 72" Painted: Ivory Lace, Base Gold, 72" Rnd x 30" H (8) 66" Rnd x 30" H (10) 60" Rnd x 30" H (3)	18	\$325.00	T	\$5,850.00
	New - Glass Bottles For Barback With Water and Pink Food Coloring	60	\$15.60	Т	\$936.00
	Mix & Match Crystal Perfume Bottle Filled with Water and Pink Food Dye	30	\$11.70	Т	\$351.00
	Small Decor - Glass Bottle 03 With Water and Pink Food Coloring 3âll II W3âll II 11.10âll II H	6	\$15.60	Т	\$93.60
	Mix & Match Pillows Custom Floral Pattern and Sage Velvet For Top Hat	10	\$28.60	T	\$286.00
		Total Reception Furniture		ure	\$27,991.60
Addtions					
	Drape - FOH 10' x 14'x 4'H - Sage Velvet	2	\$0.00	Т	\$0.00
	Barback - 6' x 6' painted Nile River	1	\$0.00	Т	\$0.00
	Tree Decal for Main Bar	1	\$2,470.00	Т	\$2,470.00
			Total Addtio	ons	\$2,470.00
Services					
	Day 1 - Labor & Install - Drape + Chandeliers	10	\$600.00		\$6,000.00
	Day 2 -Install - Furniture & Etc	10	\$600.00		\$6,000.00
	Event Day - Touch Ups	2	\$450.00		\$900.00
	Strike @ 8pm - Cocktails	3	\$550.00		\$1,650.00
	Strike Team	10	\$650.00		\$6,500.00
	Trucking & Gas Sur Charge	5	\$600.00		\$3,000.00
	Manager on site	1	\$2,500.00		\$2,500.00

Description	Qtty	Price	Total
Flame Proof Certificate	1	\$1,800.00	\$1,800.00
Supplies :MISC	1	\$200.00	\$200.00
Please make checks payable to Revelry, Inc.		Total Products:	\$146,455.40
Note: Prior to deliveries and pick-ups all invoices must be pay in full		bor/Services/Misc:	\$28,550.00
Please ready the contract and sign it	V	lear & Tear (2.00%):	\$2,860.68
		Packing (2.00%):	\$2,860.68
Notes		Taxes:	\$13,588.21
		Discounts:	(\$3,421.60)
		Total:	\$190,893.36
		Payments:	(\$184,954.28)
		Balance:	\$5,939.08